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Answer all questions.
Question 1: The Nitrogen Fertilizers Crisis

Table 1: Employment and consumption data on fertilisers

2015 2016 2017 2018 2019
Number of workers
employed in US fertilizers 19 133 19 580 20 058 20837 22179
industry
Fertilizers consumed in
US (in million tons) 22.46 23.14 23.44 21.68 22.40
Fertilizers consumed 21327 | 215.13 21742 | 21377 | 21537

globally (in million tons)

Sources: IBISWorld and ourworldindata.org

Extract 1: The US fertilizer production industry

Fertilizers are critical input for crop production and represent a major variable cost for several
US crops. Farmers represent the end users in the fertilizers’ supply chain, and the prices they
pay for fertilizers depend on several factors including local demand, product type, retailer
mark-ups, and transportation costs.

The US fertilizers sector has undergone substantial changes. Between the 1980s and mid-
2000s, the combination of lfower fertilizers demand and higher input costs for fertilizers
production caused the fertilizers sector to contract from 59 to 22 production facilities. The
assumption is that highly concentrated industries are synonymous with market power, which
can be detrimental to the society. Whether that will happen in reality rely on many factors, one
of which is the level of government regulation in the fertilizers market.

Source: Choices and the Agricultural & Applied Economics Association, 2020
Extract 2: USDA announces plan to support US farmers

The US Department of Agriculture (USDA) will support American farmers by increasing the
fertilizers production so as to address its rising costs. It is offering a $250 million new grant to
encourage greater production of fertilizers.

Additionally, to address growing competition concems in the agricultural supply chain, USDA
will launch a public inquiry, seeking information regarding agricultural fertilizers and the impact
of concentration and market power on agriculture farmers. The inquiry aims to enhance
fairess and competition across America’s economy.

“Concentrated market structures and potentially anti-competitive practices leave America's
farmers, businesses, and consumers facing higher costs, fewer choices and less control about

where to buy and sell, and reduced innovation—ultimately making it harder for those who grow
our food to survive,” said Agriculture Secretary of the United States.

Source: US Department of Agriculture, 17 March 2022
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Extract 3: Fertilizer costs: what is driving the increase?

Significant increase in the cost of fertilizers over the past year has caused a lot of concern
among farmers in the United States. Given that the cost of fertilizers now account for
approximately 15-20% of total costs for com production, fertilizer prices and its availability are
a major concern for farmers planning for the 2022 growing season. Farmers in some areas
are reporting prices more than 300% higher than last winter, and delivery times seems to be
anyone’s guess. The price increase was driven by strong domestic and global demand for
crops, low fertilizers inventories, and very slow adjustments in production by the US fertilizers
industry.

As fertilizers are global commodity, its prices can be influenced by various market factors
beyond the control of US producers. Countries that import fertilisers are also exporters of the
raw materials needed to produce these fertilisers. Hence, this means that fertilizers prices are
more volatile as it is subjected to both the cost of factor inputs as well as the production costs
of the country producing it. Another factor is that two-thirds of global fertilizers demand is
driven primarily by the production of crops, of which com, wheat, and soybeans constitute
about 36% of that total demand. So, as large producers of com, soybeans, and wheat, the US
is a large consumer of fertilizers. '

Trades disputes and disruptions have also played a big role in fertilizers availability and cost.
The US have restricted imports of selected factor inputs such as potash from Belarus. Potash
is an essential raw material used to produce fertilisers, and Belarus is a country which
contributes to about 20% of the global production of potash. The uncertainty of Russian
actions against Ukraine creates further volatility since Russia is also one of the top global
exporters of all three fertilizers raw materials — nitrogen, phosphate, and potash.

Price of fertilizers in the US can also be influenced by internal factors such as increased
domestic transport costs due to labour shortages in the freight industry which the fertilizers
industry relies on for transportation. Domestic weather conditions like hurricanes, ice storms,
as well as infrastructure breakdowns, have caused several production and distribution
disruptions.

Source: Institute of Agriculture and Natural Resources, 8 February 2022
Questions

(a) With reference to Table 1, identify the difference in the trend of number of workers
employed in the US fertilizers industry and the consumption of fertilizers in the US from

2016 to 2019. State one possible reason for the difference. [2]

(b) (i) With reference to Extract 1, explain how the lower demand for fertilizers and
higher input costs could cause firms to exit the US fertilizers industry. [4]

(i) Explain how market dominance could lead to an inefficient allocation of resources

in the US fertilizers market. [6]

(c) Discuss how improving the level of competition in the US market for fertilizers can
affect dynamic efficiency. (8]

(d) Discuss whether demand or supply factors have a greater impact on the price of
fertilizers in the US. [10]
[Total: 30]
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Question 2: The Impact of a Global Pandemic on Globalisation

Figure 1: Global Trade Volume as a Percentage of GDP, 2011 - 2020
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2011 2012 2013 2014 2015 2018 2017 2018 2019 2020
Source: World Bank

Extract 4: MAS eases monetary policy as economy reels from impact of COVID-19

Singapore's central bank eased monetary policy as the economy reels from the impact of a
novel coronavirus pandemic. In its statement, it said the COVID-19 pandemic has led to a
severe contraction in economic activities in Singapore and globally, due to the combination of
supply chain disruptions, travel restrictions imposed in many countries and a sudden decline
in demand.

In its half-yearly monetary policy statement, the Monetary Authority of Singapore (MAS) said
the Singapore dollar nominal effective exchange rate policy band has “depreciated to a level
slightly below the mid-point of the policy band”. It added that MAS will adopt a zero per cent
per annum rate of appreciation of the policy band.

Research firm Capital Economics described the central bank's latest decision as a
"complement" to fiscal policy, which will remain the key form of support for the economy.

They added that there could be a limit in terms of what more the MAS could do further down
the road. With global growth collapsing, a much weaker currency probably wouldn’t make
much difference to export prospects.

Several other economists have also said that further monetary easing is unlikely. A note from
Fitch Solutions Country Risk and Industry Research explained that this is because further
easing will risk amplifying any spikes in import prices of essentials including food and medical
supplies.

Source: Channel News Asia, 30 March 2020
Extract 5: Hoarding won't help: export restrictions will backfire on Asian countries

Asian countries that have implemented export restrictions to protect local supplies amid the
COVID-19 pandemic will harm their commodity prices and damage their trade reputations,
according to an expert from the Food and Agricultural Organisation of the United Nations
(FAO). Countries such as Vietnam and Cambodia have elected to implement such
protectionist measures and ban exports of goods such as rice and other essential raw
materials to ensure ample domestic supply and to keep costs low.
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Although export restrictions may be a knee-jerk reaction to a crisis, in the long run, this sort of
policy is highly likely to hurt the countries implementing these instead, particularly local
producers and traders.

Firstly, this will bring down the domestic prices of the commodity, rice in this case, and hurt
local farmers. Secondly, it will benefit competitors on international markets by giving others a
chance to steal market share. Thirdly, this would hurt the exporter’s reputation as all countries
that normally buy from it would think twice about that trade. If the exporter is always going to
react this way in a crisis, buyers will feel they need to be self-sufficient instead and move away
from trade.

To build resilience and minimise the impacts of such crises on food supply chains in the future,
the FAO calls for governments to focus on science, technology and the right policies moving
forward.

Source: foodnavigator-asia.com, 21 July 2020
Extract 6: The COVID-19 economy: does it mean the end of globalisation?

After decades of growth for world trade, global tourism and intemational cooperation,
globalisation hit a couple of roadblocks in recent years, as the re-emergence of nationalism
and protectionism have undone some of the progress made in the past. After global trade
growth slowed significantly in 2019, due in large part to trade tensions between the US and
China, the COVID-19 pandemic is expected to cause an unprecedented fall in world trade.

Having reminded many companies of the vulnerabilities of global supply chains, both the
pandemic and the trade war between the US and China could lead companies towards a more
domestic approach to production and sourcing, which might result in a sustained reduction of
global trade.

New York-based Delta Children, which makes cribs in China for retailers such as Walmart,
briefly studied moving production back to the US as supply shortages caused by the COVID-
19 pandemic added to its hefty bill from US import tariffs. Analysts predicted that the pandemic
would help accelerate this type of re-shoring’ of jobs to the US, while some policymakers even
spoke of a wider retreat of globalisation as companies dealt with severed supply chains.

The Delta chief executive finally ruled out the move due to higher labour costs and a lack of
suppliers. The company still plans to diversify its supply chain - but by moving some production
to South East Asia. Reshoring would only work if the products are of the same quality and
competitively priced, which is not the case at the moment.

Consultants at McKinsey & Co say supply chain issues have grabbed the attention of chief
executives and board rooms with COVID delivering the biggest and broadest value chain
shock in memory, albeit only the latest in a series of disruptions. Instead of focusing solely on
procurement costs, companies are starting to consider stability and resilience.

Sources: World Economic Forum, 29 May 2020 and Reuters, 7 October 2020

! the practice of transferring a business operation that was moved overseas back to the country
from which it was originally located
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Extract 7: Globalisation the cause and the cure for COVID-19

Social scientists around the world are taking stock, as the impact of COVID-19 has brought
international travel to a standstill, obstructed global supply chains, created tsunamis of
unemployment, brought key industries to a grinding halt, and isolated individuals and
communities in the midst of a rapidly rising death toll.

And while some would say the pandemic will catalyse the end of globalisation, some argue
that COVID-19 has in fact highlighted the power and potential of our increasingly globalized
world.

Amid today's terrifying human devastation, we have also witnessed a surge of digital
information which has turbocharged virtual networks and the flow of ideas in everything from
healthcare to business. Even more fundamentally, widespread digital interdependence has
accelerated innovative responses to the pandemic - whether among individuals, institutions or
nations — and such reactions have relied on our global connectivity.

When we look at the two key dimensions the situation is impacting, both how we work and
how we live, the virus has acted to accelerate both the digital revolution and our virtual
connectivity. Working from home is now uniikely to be considered a ‘second-best’ option, as
home-based virtual workstations are supporting thousands of workers around the world to
work efficiently, away from their physical offices. Even the hardest hit sectors, such as
hospitality and restaurants have been quick to start planning for a different future — one where
digital ordering and contactless payment are the norm and where social distancing becomes
a rule of thumb for good restaurant design.

While we cannot rush to predict the post COVID-19 future, it is clear globalisation in its fullest
sense is not a casualty.

Source: University of South Australia, 7 May 2020
Questions:
(a) Describe the trend in global trade as a percentage of GDP from 2011 to 2020. [2]
(b) With reference to Extract 4,

() Using AD/AS analysis, explain how Singapore’s monetary policy can increase
national output. [4]

(i) Explain one possible unintended consequence of “further monetary easing”. [2]

() (i) Using the concept of price elasticity of demand, explain the impact of imposing
rice export restrictions on a domestic rice producer’'s revenue. [4]

(i) Discuss the impact on the economy in countries such as Vietnam and Cambodia

of imposing export restrictions. [8]
(d) Discuss whether the COVID-19 pandemic will slow down or accelerate the rate of
globalisation. [10]
[Total: 30]

End of paper
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(b)

(a)
(b)

(a)

(b)

Answer three questions in total

Section A
One or two of your three chosen questions must be from this section.

Sri Lanka faced its worst economic crisis ever, and there have been huge
concerns about the affordability of fuel. The lack of foreign reserves to import
resources has worsened the shortage situation. The government has
responded with price control to counter the rising fuel costs.

Explain why a shortage of fuel can still exist in Sri Lanka after a rise in the
price of fuel.

Discuss whether price control is the most effective government policy to
maintain the affordability of fuel in Sri Lanka.

Evidence has shown that the workers’ participation rate for skills upgrading
workshops is generally low, mainly due to ‘short-sightedness’ by both firms
and employees. Firms are worried that trained workers quit to join the
competitors. Training subsidies provided are also unevenly distributed to
different industries.

Explain how the market for skills training may fail.

Discuss the view that government intervention in the skills training market
may create more problems than it solves.

Over the last two years, the food and beverage (F&B) industry in Singapore
was among the hardest hit sectors amidst the poor business climate and
manpower shortages.

Explain the determinants of a rational F&B owner's decision on whether to
increase the number of outlets in Singapore.

Discuss the extent to which firms in highly competitive industries are more
vulnerable to closure than firms in less competitive industries during a
recession.
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4.
(a)
(b)
5.
(a)
(b)
6.

(a)
(b)

Section B
One or two of your three chosen questions must be from this section.

As part of the Singapore’s economic restructuring plans, grants are
provided to encourage companies to invest in more energy-efficient
processes and adopt digital technologies. At the same time, large emitters
will have to pay a higher carbon tax from 2024,

Adapted from The Straits Times, 28 Feb 2022

Explain the link between a country’s economic growth, unemployment and
inflation.

Discuss the extent to which the above-mentioned economic plans will lead
to arise in living standards for Singapore.

When faced with negative economic growth, governments often turn to
fiscal stimulus to support their economy. Some governments provide
transfer payments such as cash vouchers, while others spend on building
infrastructures.

Explain one possible demand-side cause and one possible supply-side
cause of falling national output for a country.

Discuss whether transfer payments are the most appropriate policy tool to

overcome negative economic growth for all economies.

To ensure that international trade remains smooth, open and reliable, one
must resist the temptation to turn inwards, protectionism is not viable,
especially for small states.

Explain how a country’s balance of trade may worsen over time.

Discuss the view that the pursuit of a healthy trade balance leaves no room
for the use of protectionism.

End of Paper
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Question 1: The Nitrogen Fertilizers Crisis
Suggested Mark Scheme:
(a) With reference to Table 1, identify the difference in the trend of number of workers

employed in the US fertilizers industry and the consumption of fertilizers in the US from
2016 to 2019. State one possible reason for the difference. 2]

Suggested Response:
e From 2016 to 2019, number of workers employed is generally increasing while the
consumption of fertilizer in the US was decreasing [1m]
e The increase in number of workers employed could be a result of US requiring more
factor inputs to producing a larger share for export to the global market although
domestic demand for fertilizer was decreasing {1m]

Mark Scheme:
1 difference in the trend of the two stated variables — 1m
1 reason to account for the difference ~ 1m

(b) (i) With reference to Extract 1, explain how the lower demand for fertilizers and
higher input costs could cause firms to exit the US fertilizers industry. 4]

Suggested Response:

e Afallin demand results in a fall in the market price. The existing firms in the fertilizer
industry would have to charge a lower price than before. As such, existing firms’
average revenue (AR) would fall.

e A higher input costs implies that a firm's average costs (AC) would increase

¢ In the long run, the firm's AR could be lower than its AC. Firms exit the industry
because of earning subnormal profit

Alternative response

« Afallin demand results in a fall in the market price. The existing firms in the fertilizer
industry would have to charge a lower price than before. As such, existing firms’
average revenue (AR) would fall.

« A higher input costs implies that a firm's average variable costs (AVC) would
increase

« In the short run, a firm is unable to cover fixed costs and part of their variable costs
if AR < AVC (or total revenue < total variable costs). Firms would then choose to
shut down to minimize losses.

Mark Scheme:
Explain impact on average revenue — 1m
impact on AC — 1m
Explain exit/shutdown decision — 2m
(i) Explain how market dominance could lead to an inefficient allocation of resources
in the US fertilizers market. [61

Suggested Response:

« Efficient allocation of resources is achieved where MB = MC i.e. P = MC given that
price reflects MB. Therefore, social welfare is maximised if the firm produce the good
up to Qae where P = MC.

+ However, market dominance implies that a firm is a price setter i.e. the firm has the
power to set price by restricting output. For example, a profit maximizing firm would

©ACJC2022 Preliminary Exam 8757/01

produce up Qmmax Where MC = MR. At this point, the profit maximizing price Puymax is
greater than MC.

» Soclety incurs a deadweight loss as a resuit of the firm not producing the amount
Qmmax to Qae. This is because the marginal benefit to society is larger than the
marginal cost to society of producing additional unts of fertilizer from Qumax t0 Qae

* Therefore, market dominance could lead to inefficient allocation of resources in the
US fertilizers market.

coifrme )

Mark Scheme:

Knowledge, Application, Understanding, Analysis
L2 e Accurate and clear explanation of inefficient allocation of [4-6
resources arising from market dominance
* An analytical response that can:
o Establish point of allocative efficiency
o Explain why a firm with market power can deviate from
allocative efficiency
o Explain implications of deviating away from allocative
efficiency
L1 * Smattering of points 1-3

o Several concept flaws

(c) Discuss how improving the level of competition in the US market for fertilizers can
affect dynamic efficiency. i8]

Suggested Response:

Body Paragraph 1/Requirement 1: Improve dynamic efficiency

¢ Improving the ievel of competition would increase the threat of competition

+ The profits of incumbent firms may be eroded by the entry of new firms
Assuming profit-maximising objective, incumbent firms may attempt to safeguard
their profits by becoming less complacent and working towards dynamic efficiency.
Firms may engage in both product and process innovation
Product innovation allows a firm to experience an increase in AR
Process innovation allows a firm to experience a fall in AC
An increase in AR and a fall in AC would help the firm to retain its profits in light of
competition.

Body Paragraph 2/Requirement 2: Does not improve dynamic efficiency
+ Improve the level of competition would result in a fall in level of profit

©ACJC2022 Preliminary Exam 9757/01
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©ACJC2022 Preliminary Exam 9757/01

7
o Explains how demand and supply factors affect price of
o Considers PED and/or PES as part of demand and/or
supply factor
Depth
o Rigorous and relevant economic analysis used in
explanation
L2 Lacking any L3 criterion 3-4
L1 Smattering of points 1-2
Several concept flaws
Evaluation
E2 For an answer that builds on appropriate analysis to evaluate | 2-3
critically and amives at well reasoning judgements and/or
decisions
E1 Unsupported evaluative statement(s) 1
Unsubstantiated / generic conclusion
Statements supported with very weak/incorrect/unrealistic/illogical
reasoning (therefore making the judgement unconvincing)
[Total: 30}
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s Answer may have insufficient economic analysis / be more
descriptive.

« Answer may be theoretical and lack application to the context.

E2 Well-reasoned judgement using at least one criteria, such as short /| 2

long term or nature of the economy

E1 Judgement is not well substantiated / the substantiation and reasoning

is not convincing.

-

(d) Discuss whether the COVID-19 pandemic will slow down or accelerate the rate

of globalisation. [10]
Note to markers: Students are expected to explain why and how globalisation may slow
down, with analytical explanation.

Introduction:

Globalisation refers to the development of an increasingly global economy, characterised
by increases in trade of goods and services, international flows of capital, and iabour
mobility. Given the trend in global trade, globalisation has slowed down in the past decade.
The COVID-19 may have further slowed down the rate of globalisation.

Requirement 1: The COVID-19 pandemic _may have slowed down the rate of
globalisation.

Why countries may trade less: Countries are wary of vulnerable global supply chains.
With disruptions to the global supply chain, countries are not able to import important
commodities and necessities from their usual sources. This could lead to high imported
inflation due to the decreased supply of commodities. Thus, countries may switch to
domestic production for increased stability instead of relying on trade for such
commodities.

How global trade may be reduced: Use of measures such as export restrictions will
reduce total world trade (as shown by figure 1).

Price of
Export restrictions decrease the
world supply and increase the
price of imports. Thus the world
supply curve shifts to Swond +
export restrictions. This reduces
the quantity of imports from Q1Qs

Sametuc

Poniz Suers + 1001 to Q2Qa.
Pooid restrictions
: Suana
!
] Oagln_.n
0 Q, Quantity of
imported goods

: In addition, to reduce vulnerability to external shocks, firms
may decide to re-shore their businesses. For example, US firms such as Delta Children
(Extract 8) considered moving their production back to the US to avoid supply
shortages caused by COVID-19 measures implemented in China. The shortages
result in higher cost of production and loss of profits for the firms. If more firms re-shore
their businesses to stabilise their profits, there could be a decrease in FDI globally.

« Why labour movements may fall: The COVID-19 restrictions have also “brought
international trave! to a standstill” (Extract 6). With travel restrictions in place to prevent
the spread of the virus, people are less able to travel and take up job opportunities
overseas.

©ACJC2022 Preliminary Exam 9757/01

o Countries may n:oomm not to use mxuo: restrictions in the long term, since it would
reduce export revenue and result in slower economic growth. Thus the export
restrictions may only lead to a short term, temporary, fall in global trade.

« Firms may choose to diversify and shift their production to different countries rather
than re-shore. For example, Delta Children chose not to re-shore as the US has high
labour costs and lack of suppliers. Instead, firms may choose to move some production
to South East Asia. Thus, while the direction of FD! may change, there will not be a fail
in the flow of investments giobally.

Requirement 2: The COVID-19 pandemic may have accelerated the rate of
globalisation.
The pandemic has accelerated digitalisation: Use of technology will make it easier to
invest and work in other countries. For example, the virus has sped up the adoption of
communication technology so that workers are able to work from home or remotely.
With such technology and better internet connections, cost of communications are
lower and international transactions can occur more easily, thus increasing foreign
direct investments.
The pandemic may increase free trade: As COVID-19 caused contractions in many
economies, some economies may rely on trade to recover from the recession and
ensure a more stable economy. For example, some import reliant countries may
diversify their supply chains to prevent future supply chain disruptions. To do so, they
may sign free trade agreements with more countries, leading to an increase in trade. In
addition, free trade will allow export reliant countries to increase export revenue,
aggregate demand, and economic growth to recover from the recession.
s Thus, once the pandemic stabilises, trade and investments are likely to increase,
accelerating the rate of globalisation.

Overall Evaluation
« COVID-19 may slow down the rate of globalisation, especially in the short run, In the
short run, countries adopt stricter measures as they prioritise public health over
economic growth. However, in the long run, the development of vaccinations and the
stabilisation of the virus will allow more countries to open up once again. As countries
relax their COVID-19 restrictions, trade, investments, and labour flows are likely to
continue increasing.
o Short term measures such as export restrictions or travel bans are likely to be very
detrimental to economies, and are likely to be removed in the long term.
¢ While countries are wary of supply chain disruptions, the lower cost of obtaining goods
overseas significantly outweighs the risk of supply chain disruptions. Countries may
increase domestic production or diversify to reduce the risk to externat shocks, but are
unlikely to reduce trade significantly.
* As seen from figure 1, global trade was already on a noi:sma trend before the
pandemic hit. Thus, the m.osaoi: in globalisation is likely caused by other factors, such
as trade wars and conflicts between countries.

Level | Descriptors Marks

L2 o Balanced answer that discusses the possibilities of globalisation | 4 -7
slowing down and accelerating as a result of the pandemic.

« Answer uses economic analysis and tools to explain the impact
on globalisation.

o Good use of evidence and reference to the extracts.

L1 « Answer may be one sided, explaining either a slow down or | 1-3
acceleration of globalisation.

©ACJC2022 Preliminary Exam 9757/01
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1 Sri Lanka faced its worst economic ci ever, and there have been huge
concerns about the affordability of fue!. The lack of foreign reserves to import
resources has worsened the shortage situation. The government has
responded with price control to counter the rising fuel costs.

(a) Explain why a shortage of fuel can still exist in Sri Lanka after a rise in the
price of fuel. [10)

(b) Discuss whether price control is the most effective government policy to
maintain the affordability of fuel in Sri Lanka. {15]

Suggested Responses

(a) Explain why a shortage of fuel can still exist in Sri Lanka after a rise in the price of fuel.
[10]

Question analysis

Command Word “Explain” — requires student to explain why there is currently a shortage
of fuel in Sri Lanka and why the market cannot reach an equillbrium even
after price adjustment process

Context Sri Lanka's market for fuel
Concept Demand and supply, shortage and price adjusiment process
Introduction:

Fuel is a necessity for society has they are mainly needed to run vehicles. There are no substitutes
to fuel, especially in Sri Lanka, where majority of vehicles are still fuel-powered instead of electric.
As Sri Lanka is going through an economic crisis due to its political problems, there is a lack of
foreign reserves to import fuel. To make matters worse, price of fuel has increased greatly due to
other reasons such as the Russian-Ukraine war.

Foreign reserves are the amount of foreign currency the central banks holds. Typically, they are
used to manage the country’s exchange rate relative to foreign currencies. As there is a lack of
foreign reserves avallable in Sri Lanka, the Sri Lankan government are unable to manage their
depreciating currency due to their economic problems. This makes price of imported oil become
very expensive in foreign currency. This would cause the supply of fuel in Sri Lanka to decrease
from SSo to SS1. At current price PO, there is a shortage of oil in the market of Qdd-Qss, assuming
alt other things remain constant.

According to the price mechanism, a price pressure upwards is expected in order to reach the
new equilibrium and clear the shortage at Qe. As fue! has a fack of substitutes and a necessity,
the demand for fuel is price inelastic. This would mean that the expected new equilibrium price
would increase sharply and by more than proportionate to the decrease in Qdd.

Fuel moclat
tn m}, Lank e

>nnoa_:u to the pre-amble, a price ceiling is implemented to keep »so price cn {uel affordable for
households. A price ceiling is the maximum price that can be legally charged by producers. This
price is lower than the equilibdum price. Dus to the price control set by the government, the price
pressure upwards dus tc the falt in supply will stop at Pmax. As a resuit, the shortage caused by
the fall in supply will not fuliy be resolved. There is now new shortage Is now at Qdd2-Qss2 and
the market has not cleared at expected Qe.

While the m_..o:mmo is expected to be cleared due to the price pressure upwards to Pe and Qe,
this might not be expected in Sri Lanka as sellers of fuel may not be able to increase the quantity
supptied of fuel due to their inabiiity to import the ol resources. This may be exacerbated due to
supply of oil being price inelastic. While the shortage might reduce from Qdd-Qss due to some
increase in price, it may not dlear fully. A shortage of Qdd2-Qss2 could stili remain at least till Sri
L.anka manages its economic problems and have resources te import fuel again.

Conclusion;

The lack of foreign reserves in Sri Lanka has affected the supply of oil to be sold in Sri Lanka.
While the price mechanism theory expects the shortage to clear due to price pressures, this may
not happen due to other factors in Sri Lanka.
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The government can invest in technalogy to lower the cost of production of extracting oit from its
own country or by Inviting foreign firms with expertise to do so. This will increase the supply
from SS1 to $S2. At current price P1, there Is a surplus of Qss-Qdd, causing a downward
pressure in price to new affordable price P2, Alternatively, the government can also start
sourcing to purchase fuel from different countries to always have cheaper options to compare to
or minimise supply shocks by not over-relying on one source.

p
56
<.
Pk 52 Mo et for
& P funelin
K3 = .
OL Svi Lewlo

However, strategies to ifcrease the supply of fuel in Sri Lanka is costly for the government w:n
is also dependent on the land and resource constraints in the country. In addition, the
development of technoldgy takes a long time to see effect, therefore it may not improve the
affordability in the immediate term.

Explain how encouraging the use of substitutes may lower demand for fuel

With the recent developments of alternative modes of energy such as electric cars and
hydrogen and natural gases, there are now more substitutes available. The Sri Lanka
government can also start pushing its industries to rely less on fuel and on these aiteratives.
This would reduce the demand for fuel from DDO to DD1. At current price PO, there is now a
surplus of Qss-Qdd, leading to a price pressure downwards to P1.

ﬂ 4G

However, this may be a long term strategy and difficult to .au_m:_m:r The main mode of

transport in Sri Lanka is on mot les, tuk-tuks and h izn—_ all use fuel to run. In
addition, development and adoption of electric vehicles in di ping tries are low b

of the lack of charging ir M , the development in i of fuel
are still not fully materialised yet, m:n may idered to be stili y expensive. This

makes it difficult to shift the focus of industries to rely less on fuels to other sources of energy.

Summative Conclusion:
In conclusion, a price ceiling is almost an imperative policy the government needs to adopt to
intat ility in the i diate term, especially with the unpl. d supply shock issues.
Nonetheless, the government needs to consider more sustainable approaches to leave the
country less vuinerable to such shacks and spikes in fuel prices. These policies can either to
reduce reliance on the use of fuel or increasing the supply through improving technology or
diversifying its trade partners and where it sources for fuel. One important aspect to note about
Sri Lanka though, is to consider raising the incomes of Sri Lankans. Pursuing healthy economic
growth and raising the material SOL. would certainly help the population cope with sharp rises in

price of nacessities in general, leaving them less ptible to such leng
Knowiedgs, Af TP Araivel
Level Description
L3 s Breadth
o Explains two policies in the market for fuel (inclusive of price
A+Ac=10 celling) that can be imp d by the g to keep prices
A+C=8-9 affordable
+ Depth

o Rigorous and relevant economic analysis used to explain how a price;
om___:n keep prices maoam_u_m

o and rel lysis used to explain how another]
P keep prices affordable
o Well-contextualised to market of fuel in Sri Lanka.
L2 « Lacking any L3 criterions.
C+Cl/A+
K=7
A+0 =6
C+K=5-
6
L1 s Largely imelevant respo
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2. Evidence has shown that the workers’ participation rate for skills upgrading
workshops is generally low, mainly due to ‘short-sightedness’ by both firms
and employees. Firms are worried that trained workers quit to join the
competitors. Training subsidies provided are also unevenly distributed to
different industries.

(a) Explain how the market for skills training may fail. [10]
(b) Discuss the view that government intervention in the skills training market
may create more problems than it solves. [15]
Suggested Responses

(a) Explain how the market for skills training may fail. [10]

Question analysis

Command Word “Explain” - requires student to explain how the market for skills training
allocate resources inefficiently — positive externalities and imperfect

information
Context Skills Training
Concept Market failure — positive externalities, imperfect information

Introduction:

Consumers behaviour in the demand for skills training, is influenced by their objective of
maximising self-interests (satisfaction). With upgrading of skills, there are possibilities of earning
higher income, better promation prospects in their career. From the perspective of employers,
they are influenced by their objective of maximising their profits. When employees skills
increase, there are possibilities of a higher productivity and higher profits.

externalities

Explaining the market equilibrium (maximising self-interest):
In maximising their satisfaction, consumers only consider their marginal private costs (MPC)
and marginal private benefits (MPB).

In this case,
o MPC = payment for skills training courses and opportunity costs incurred e.g. loss of
income during the period of skills training.

« MPB = higher income that could be earned upon completion of these skills training
programmes

Thus, consumers, based on their own benefits and costs, will decide to consume at the market
equilibrium level Qu, where they equate their MPC to MPB, at the equilibrium price Pm. They
totally ignore the benefits to the third party.

Benefits
Costs B MSC = MPC
Es
Ps
P e Em MSB
/ MPB a
o @ Q ty

Explaining the benefits to third parties (divergence between MSB and MPB):
The full extent of benefits include benefits to individuals and third parties i.e. firms and economy.
Benefits to third parties are termed external benefits. Some examples include:

+ Firms benefit from the rise in labour productivity as workers complete their skills training
to undertake improved production techniques. These firms, with a more skilful workers,
could adopt technology / automation in their production processes, enabling firms to
become more efficient and earn higher profit margin.

« (In addition, Countries with higher productive labour force would also attract overseas
investment which would lead to job creation leading to higher economic growth in the
country)

+ The full extent of benefits is measured by MSB which includes both MPB & MEB.

Explaining the market failure:

To society, the socially optimal level of consumption of skills training would be where society
welfare is maximised. Thus, consumption should be at Qs where MSC = MSB. For every unit of
skills training consumed by worker from Quto Qs, MSB > MSC. Hence there is a net potential
welfare gain by society with additional consumption @QmQs. For every unit consumed beyond
Qpm, society benefits from the potential weifare gain (area B Es Em). Thus, when consumers are
left to pursue only their self-interest, there will be under-consumption QuQs,, resulting in
inefficient allocation of resources in the market for skills training.

information
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To solve the underconsumption in the market for skills training, the government may intervene
by implementing subsidies. Subsidies are pay-outs by government to defray the costs of
consuming or producing skills training. This forces consumers to internalise the external benefits
{amount of subsidy = MEB at Qs) lowering the MPC to MPCsub, where social equilibrium Qs is
reached.

Benefits
Costs MSC=MPC mpcsub
Es
Ps
Pm Em MSB
) /gvm at
o Q- Q. y

However, governments may over or underestimate the value of external benefits, resulting in an
over or under subsidy. This leads to an efficient allocation of resources. In the market for skills
training, it is difficult to value of the external benefits, at is difficult to quantify exactly how much
productivity of 3" parties grow due to the consumption of skills training. Moreover, there are
many factors which cause productivity growth in workers, making it challenging to attribute it as
external benefits of skills training on 3 parties alone. In addition, the quality of the skills training
would also influence the extent of that benefit.

As a result, the government may over subsidize in the market where MPC increases to
MPCsub2. This would cause the market to be at new equilibrium Q2. This means that the

market is not at socially efficient level at Qs and results in a new deadweight loss of triangle
EsCD.
Benefits
Costs MSC = MPC MPCsub2
Ps
P
(0]

intervention/Government may adjust amount of subsidy with more data available over time.

Despite the fact that governments may not subsidize the right amount to reach social efficiency,
society might still be better off than without the subsidy in the first place. In the example above,
even though the government had oversubsidized and caused an overconsumption in the
market, the deadweight foss is still smaller than before the subsidy was implemented (BEsEM
vs EsCD). In addition, with more data about the market collected over time, governments can
stili adjust the leve! of intervention to reach closer to the social equilibrium point.

Govermnment intervention may also result in unintended consequences as they intetvene in the
market for skills fraining. For example, government joint provision or subsidies requires a huge
budget. This could result in the government having a budget deficit, leading to opportunity costs.
In Singapore, spending more on increasing the production and consumption of skills training
could mean that there are lesser government revenus to implement policies to cope with the
problems of an ageing population (e.g. health policies or elderly friendly infrastructure).

In the pre-amble, it also mentions that the level of subsidies for skills training are of different
extents in different industries. Workers in the industries receiving fewer subsidies, may receive
less training, resulting in bigger wage differences between income groups, worsening income
inequality in Singapore.

In order to manage some of these unintended consequences, the government can complement
them other policies. For example, the government can provide transfer payments to the lower
income to limit the effects of income inequality. in addition, the government can use public
education to help workers from sunset industries understand the importance of developing new
skills in relevant areas and remain employable. As skills training would lead to more potentia!
growth in Singapore due to the improvement in quality of resources, more tax revenue can be
collected in the long run.

Summative conclusion:

In summary, government intervention in the market for skills training may potentially cause
problems due to government failure. Therefore, it is important to perform market research and
analyse the optimal extent of intervention in the market. In addition, with the development of
technology and data collection, more precise estimates can be used to refine the leve! of
intervention in the long run. To mitigate the unintended consequences of intervening in markets,
governments should consider a myriad of policies to complement and support the market in
allocating resources efficiently. Needless to say, much of this also depends on the competence
and reliability of the government in addressing the market failure problem.
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3. Over the last two years, the food and beverage (F&B) industry in Singapore
was among the hardest hit sectors amidst the poor business climate and
manpower shortages.

(a) Explain the determinants of a rational F&B owner’s decision on whether to
increase the number of outlets in Singapore. {10]

(b) Discuss the extent to which firms in highly competitive industries are more
vulnerable to closure than firms in less competitive industries during a
recession. [15}

Question analysis

Command Word “Explain” — requires student to explain the different factors that guide
decision making for a firm i.e benefits, costs, constraints, other
information about market

Context Fand B
Concept Decision-making framework, firms and decisions
Introduction;

A rational F&B owner will consider histher self-interest in the decision, which will be based on the
consideration of only the private cost and private benefit. The objective of the owner is to maximize
and increase profits.

The factors that need to be considered are the additional benefit and additional costs of each
additional outlet opened. An assumption in this answer is that the F&B owner has the financial
resources to open additional outlets in Singapore.

Body Paragraph/Reguirement 1: Explain the marginal benefits in increasing the number of outlets
in Singapore

The additional benefits that an F&B owner would need to consider is the additional revenue can
be earned from opening a new outlet in a new location. This additional revenue would be from
the number of dishes that are sold in the new outlet. Some factors that would influence how much
the additional revenue is are the number of potential patrons in the area. In areas which are
densely populated, the potential to earn revenue is also higher. One thing to consider is also the
economic climate. Due to the pandemic, incomes of citizens have fallen and may result in a fall
in demand for F&B dining in general. Nonetheless, this depends on how income elastic the F&B
outlet is. If the F&B outlet is income inelastic or negatively income elastic, the potential revenue

number of outlets in Singapore

The costs that the F&B owner needs to consider are the explicit and implicit costs. Explicit costs
in the F&B market are such as the costs of ingredients, labour costs and infrastructure of the F&B
outlet. Due to the supply disruptions and manpower constraints due to the pandemic and other
economic challenges, the explicit costs would have been considered to increase. Implicit costs
refer to the opportunity costs, which is the benefit of the next alternative forgone. As an F&B
business owner, these funds to open an additional outlet could have been used for marketing its
current outlet more aggressively to attract more customers to the current outlet. The opportunity
costs in such an example could be the potential revenue that could have been earned due to the
increase in marketing strategies.

Final analysis on whether to open an additional outlet:

The 2 main factors that the F&B owner needs to consider are the marginal revenue and the
marginal costs. Profit can still increase by opening an additional outlet if the marginal revenue
outweighs the marginal costs. The F&B owner will maximize his/her profit with the total number
of outlets where marginal revenue = marginal costs.

Knowledge, Application, Understanding, Analysis

L3 |= Accurate and clear analysis of whether to open an additional outlet | 8~ 10
weighing the
o Marginal revenue
o Marginal costs

= Answer provides relevant examples of the F&B industry

L2 |= Undeveloped or some inaccuracies of whether to open an additional outlet | §-7
weighing the

o Marginal revenue

o Marginal costs
Or
= Answer only explains one of the above requirements
= Answer provides some examples of the F&B industry

L1 [« Inaccurate and minimal analysis or descriptive answer - 1-4
=« Answer is largely irrelevant
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good that is being sold, brand loyaity and how the firm has positioned it in a time of recession
making use of income elasticity of demand.

Knowledge, Application, Understanding, Analysis

Level

Description

L3 (8 — 10m)

e Breadth
o Explains two factors why either firms in more competitive industries o
less competitive industries are more likely to close down during
recession

e Depth
o Rigorous and relevant economic analysis used to explain how
characteristics of different market structures increase the vulnerability to
shut down
o Rigorous and relevant economic analysis used to explain how other
factors such as type of good sold increase the vulnerability to shut down
o Relevant examples to substantiate

(2 (5-7m)

Lacking any L3 criterions.

L1 (1-4m)

Largely irrelevant response.

o Largely descriptive response with non-existent or minimal or application oL
economic concepts or theories.

« Serious and pervasive conceptual errors.

Level

Description

E3 (4-5m)

For an answer that builds on appropriate analysis to evaluate critically and

arrives at well-reasoned judgements* and decisions using criteria.

« Strong evaluative statements about the extent of firms in high vs low
competition are more likely to shut down

« Strong concluding paragraph

« Strong reasoning to justify the judgement made (including the use of criteria)

* in the context of this question, judgement made should be whether firms in
more competitive industries are likely to shut down during recession as
compared to those in less competitive industries

E2(2-3m)

« Provides an opinion accompanied with partial substantiation that:
o May not be entirely convincing.
o Seems overly reliant on assumptions that may not hold.
o Lacks relevance to the context of the question.
« Evaluates at least one of the points covered in the body or provides som
insightful opinion(s) but the overall stand in unclear.

E1(1m)

Unsupported evaluative statement(s).
« Orunsubstantiated / generic conclusion
e Or supported with very weaklincorrect/unrealistic/iliogical reasoning

(therefore making the judgement unconvincing)
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- Correct start and end point

- Correct use of AD-AS framework

- Diagram(s) is/are used in explanation
- No major conceptual errors

L2 Only one link is well-analysed 5-7
or
Two links are somewhat explained but not well-analysed
Explanation includes:
- Some gaps in explanations
- Inconsistent / inaccurate use of concepts
- Diagrams drawn but are not used in explanations
L1 Major conceptual inaccuracies 1-4

Irrelevant use of concepts

(b) Discuss the extent to which the above-mentioned economic plans will lead to a
rise in living standards for Singapore. [15]

Command word | Discuss the extent:
Balanced argument —

Start point: event / triggers
End point: SOL of Singapore

Extent: how it may fead to rise, how it may not and a summative conclusion
provided on the overall extent

Concepts Standard of living
AD-AS
Context Singapore
Introduction

Define living standards and its respective measurements:

- Material SOL measured by real GDP per capita — purchasing power
- Non-material SOL measured by various indicators such as pollution index, gini
coefficient, literacy rate and life expectancy rate.

What do the economic plans entail?

- More funding to restructure economy including more investment in carbon-lite production
process, adopt digital technologies
- Higher carbon tax

Grants from the govt to encourage more innovation and adoption of digital technologies can be
used to absorb part of the firms’ investment costs - lower costs for investments means likely
to have greater rates of returns to investments - increase Investment spending (1) 9 higher
AD as it increases from AD1 to AD2 = actual growth

Increase LRAS from AS1 to AS2 from higher investment spending (I) and investing in
technology = quantity and quality of resources improve =» potential growth.

As the country experienced both actual and potential growth - RNY increases from Y1 to
Y2. As the firms get more productive, the increase in output is likely to be greater than the increase
in the total cost, hence the average cost per unit of output produced is lower < which means
the price of each output can be kept low and stable, seen by the smaller increase in price from
P1 to P2,
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Answers is applied to Singapore's context and preamble

L2

Only one requirement is well-analysed
or
Two links are somewhat explained but not well-analysed

Cursory explanations refer to:
- Some gaps in explanations
- Inconsistent / inaccurate use of concepts
- Diagrams drawn but are not used in explanations

L1

Major conceptual inaccuracies
Irrelevant use of concepts

1-4

Evaluation

E3

Both requirements are well evaluated and a summative conclusion on
the overall extent is provided

4-5

E2

Evaluating both requirements but only one requirement is supported with
reasoning AND NO summative conclusion on the overall extent is
provided.

2-3

E1

A brief attempt at evaluating but no supporting reasons given
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- Start and end point is clearly explained, no missing
elaboration.
L2 « Developed but one-sided explanation on either the demand or | 5-7
supply factors that caused a fall in national output.
Or
e Under-developed analysis on both the demand and supply
factors:
- Conceptual framework of AD/AS is used but there are several
inaccuracies
- start and end point not entirely clear, some incoherence in the
answers
L1 s Descriptive answer without any conceptual framework 1-4
« Answer contains many inaccuracies.

(b) Discuss whether transfer payments are the most appropriate policy tool to
overcome negative economic growth for all economies. [15]

Command word | Discuss whether — use economic reasoning to provide balanced argument
on the appropriateness of the use of transfer payments to increase RNY
across all economies

Start point: transfer payments
End point: raise hational output

Concepts AD-AS

Context Open context ~ all economies

To consider the differing characteristics of the economies

Introduction:

Define what is transfer payments. Cash vouchers, subsidies that are not linked to economic
transactions, but part of government's pianned expenditure (part of the government budget)

When economic output is falling = country is in recession, loss of jobs and a possible fall in
national and household income =» worsens standard of living, hence the government needs to
implement policies to help overcome this.

real national output

Transfer payments can also include subsidies to firms to offset the rising unit cost of
production (e.g. Wage Supplement Schemes) < lowering unit COP > increase SRAS from
SRAS1 to SRAS2 and hence, increase RNY since firms are able to produce more with a lower
unit COP.

Transfer payments can also include grants on innovation (e.g. to offset firms' innovation/ R&D
costs) < greater ability to earn more profits since costs is lower = higher ability to invest < |
increases

Transfer payments: subsidies to households (e.g. GST vouchers , Rediscovery Vouchers, CDC
vouchers) =» greater ability to consume as the out-of-pocket expenses is lower <> higher C

(multipiier process@)Both the increase in C and | can lead to an increase in AD, from AD1 to
AD2 = firms react by producing more =¥ increase in real national income = as they require more
FOPs to increase production, they pay more for the FOPs =¥ leading to higher income earned by
FOPs = stimulate further induced consumption =» AD increase further and hence, RNY increase
further. This multiplier process will lead to a multiplied increase in RNY from the increase in
transfer payments by government.

(1Y ™
SeAs o

¢

{ _—,_
7 RVY

u.t.qw:

(Part of Evaluation) This policy tool will be appropriate for:

1) Countries with larger multiplier size <» RNY increase by a bigger amount <» faster to
get out of recession and government does not need to spend as much to raise RNY
sufficiently. Countries with small multiplier size will need to spend more on transfer
payments in order to raise the RNY to the same extent.

2) Countries whose government budget in a healthy surplus - transfer payments
require government budget < without the budget, governments may have to borrow to
finance the transfer payments <» leading to accumulation of public debt, which means that
any economic growth benefits are likely reduced as part of it has to go towards repaying
the debt. (Accepted response include crowding out effects too <» negate by the fall in C
and 1 due to higher interest rates)

(Part of Evaluation) Transition / Limitations of Transfer Paymen
appropriateness:

However, the use of transfer payments requires substantial amount of government budgets and
is likely to be unsustainable in the future, without raising direct taxes to fund this spending.
Therefore, regardless of the type of economies, the use of transfer payments is unlikely to
be the only policy tool that is appropriate to use for all economies.
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A brief attempt at evaluating the policy but st
No comparison made at alt

ated, rather than explained _ 1 _
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- start and end point not entirely clear, some incoherence in the
answers

L1

Descriptive answer without any conceptual framework
Answer contains many inaccuracies.

1-4

(b) Discuss the view that the pursuit of a healthy trade balance leaves no room for the
use of protectionism. {15]

Command word | Discuss — balanced argument

Req 1: how the use of protectionism can help to improve a country’s trade
balance

Req 2: How the use of protectionism may not help

Start point: protectionistic tools
End point: Balance of Trade

Concepts Protectionism, BOT

Context Open context —~ contextualise by considering different economies’
characteristics

introduction

« Defining protectionism: use of tariffs, export subsidies, import quota

« Aim: to switch spending on imports o domestic goods and increase competitiveness of
domestic exports <» Improve balance of trade

« Whether there is room for the use depends on 1) causes of worsening BOT and 2)
country’s characteristics and 3) time.

Requirement 1: How the use of protectionism can help to improve a_country’s trade

balance

Protectionism such as a tariff may help to raise import prices and hence, reducing the spending
on foreign imports and hence, improving balance of trade. Tariffs is a tax that is imposed on
imported goods. The imported good will now face a higher selling price due to the imported tax,
as seen from how the supply curve shifted upwards by the amount of the tax, from Sworld to
Swaorld + tariffs.

Figure 4: Market for Shoes with Tariffs

L
Price of
shoes

P

Syona * tanift

Puaria

o=m=~=< of shoes

More papers available at www.testpapersfree.com



BP-41

‘apey} Jo asuejeq s,A13Unod e aaoidw) 03 wisiuonosjold
J0 8sn ay; 1o} wWoos 3| paspu] St SJAY} BIUSY ‘SAUOUODD Jsow 0} poob uey) uuey
asow Bupq [|1m wsiuopoejold o) Buiosey ‘seoud podul sARRdUIN PUB NUBASI-X Ul IMOIE
SNoNURUOY ainNsud 0} se os ‘sedmnos yoduwly BulAysienp pue apes) 88y adeiqua sAeme
pinoys suoneu tojlews ‘swy awes 8y} Jy ‘sseusApnediuod spodxa ayj ul juewsAoiduuy
alqeule)sns eJow e ainsus pue uoionpoud J0 3S09 JiUn Jamo) 0} se os ‘Ajaonpoid snoge|
Buirosdwy uo Buipueds se yons ABejesys wiey Buo| Uo SNJ0§ PINOYS SIUBLILIGACE asaly ‘prom
Paziieqolf ey uj ssausaynedwod pauelsns ansus o} ‘PEBISU] HMOM JoU jIM Wsiuopoaload
‘s334nosal pue ymoub 10j apesy uo Apaeay Aja4 jey) siodebuls X)) SSLIUNOD Joj ‘elojeIoy ]

‘siomadwios ueyy sasood si X jo Ayjenb ey
3 pue by st 1Bpnq Jewuisnob ay) g Ajleioadsa ‘enuanss-x Jaybly esjuesend sfemje Jou seop
seaud X Jomo| 0} Sa)pisqns Bujsn ‘JAABMOH “siodxe ay} Anq o} sisublalo) ajow joemE Ued saoud
X ladesyo ‘swp swes ay) 1y ‘suodul 1amay Aq pasnes sebeyioys sy 104 dn exew o) pesesiou]
2q ued uofjanposd ansawop oy; ‘spodwl 10) pueBp Ss8| YIM ‘Ajusioyns-jies sonpoid o}
Aydedes sy yim seLyuNos 19661q 404 pue WIS LOYS a3 10} [njash Ajuo Ajex| S WSILONIS0ly

BAN59}J0 910U JOY}0 JO 9SN 9|GISSOd 9y} 9pNjou] 0}) UOISN|OUOD [JEISAD (UoeNnjeA] Jo tmn_v

"USSIOM JOB} Ul pinod pue sacidwy Ajuessassu jou saop | OF
€ Buipuads poduy ul fjej oy} ueY} 210w UBAS [[B) PINOD dNUBARI-X € SHOAXS JNo Uo
pusds 0} Ajjjjqe s58} € 9W0odU] [ELIONEU JIBL} Ul 30NPaI € suasiom uonisod 1 Og sieuped
Buipes) Jey; sueaw osfe uogsod §OF Jno sroidw o Buipusds-podwy ayy Buonpes Ag -

:aseqd saye) noqybiau-Ay3-JebBaq Jo 1peye ayy uaym

‘UBSI0M 0B} U PIN0D pue sAocsdwi A|luessaosu Jou saop 1 0 € Buipuads
Hodwy up jje} 8y} ueY) eJOW UBAS ||Bj PINCO pue ‘Ssesioul Jou ABw enueAal-X oyl -
pasoduy) ase spue) uaym aaisuadxa aiow awodaq osje ues syodxe INO -
$80|A18S pue spoob uo syue} Jejuus asodu osje ues sieuped Buipel) -

:ssauped Buipes; ubiaio) ey wous uonerjelas sayAul wsuoRoejosd ueymm

‘asuanbasuos papuajuiun aAnebau ayj se
uogepu; ysnd-1s02 P YIMoib 2WOU0I JIaMO|S & “1dD 13Dy YiIm pajdnod ANY JOMo]
‘slie} SYHS 'seljunos asey) 1oy Buinll jo 1500 Jaybiy o] saje(suel) 4O Jeybly ‘esoueyung -
'Sd04 oAsuadx® aJow Jo 8sn oy yum Jeybiy mou si 40D INO BoUIS [[OM SB 8sEaIoU] UBd
saoud X no Jey) Ajexy s1 )| ‘pesisul 10g uasiom pinoo ) ‘Buipuads- Jeybly ay; jesyo
0} ybnous aseasou) Jouueds BnusAsL-X ey} jey Bulwnsse ‘sesesioul Bulpusds-iy soulg -

‘ejeuoiuiodoid uey) ssa) sj aseaioul
ooud e yim |jg) papuewsp Aib ey) se Buipuads-|y aseassuy J9g) Ul (M Syue) ‘L > wgad -

‘pesjsut uogisod 109
4Nno uasiom ued wsiuolasyold ‘sdO4 payodwl uo £jal Jeyy asodebulg )i seLUNOD J04

*2in3 e Jou Jnqg Janal spewojdwiis e jsaq je s| wsjuopssjold ‘una) buoj ayj u) aousH e
‘uopisod | Og pue spodxa suj Jo ssausAledlod ay} aacidiu; A|IIESSSI3U JOU SB0P
spodxe 1no 0} pajoeijie aq Jou Aew staublalo) Jo sadesyd sjonpoid onsauwiop puy jou Aew
SISWINSUOD O)saWop ‘os pue ybnous Apuaioyns X pue spoob onsawop Jo aoud ay; umop
Buuq o} ybnous aq jou Aew ) € saIPISqns spHodxe pue syue} Hodul LM UBAS ‘B0uUsH e
“(seoud Jaybiy ‘asusy pue sabem Jaybiy ui synsai 8910} 1noge| Bupjuuys "6°8) X jo Auenb
Jatood Jo doud X Jaybiy wouy sayys o) U ssoj e 0} anp aq ues uolisod | Og Bulussiomy e

:abejueape aaperedwos
ul SS0] 9y} S) 108 Bujuasiom 10} UOSEAI Y} UBYM JAPIBYPS aq jJou Aew wisiuonselold

“Kous)oijau) siy} 0} NP Z BaIE JO SSO| SIBJ|OM € S| 8oy} ‘alopiay] ‘aoeid

1541 8y} u) poob siy Jo uopezyeioads ay) uj ebejueape aAapesedwod By} 9ARY Jou op Aay)

20UIS JUBIDYOU) B10W AJ9ALefel Bq O} A|2|} 818 Sl J1SSWIop aseLy) ‘ssoys Jo sued I
-1{) WO USsS Se SI0YS 210W [jas pue asnpoid 0} s|ge ase sisonpold ofsswop ybnoyly

“uodWINSUOD JaMO] LWL

snjdIns JaWnsuU09 JO SSO| 8Y) 0} @Np ¢ BAIB JO SSO| SIBJIOM € S| 818y} 0S (¥ jo peajsul
£) 2049 UBY) SOOYS JMO) SLUNSUOD MOU SISLUNSUOD DASBWOP ‘pasodwll SYUB) YIM

-AJo100S 0} SSO| BIB)|oM B Ul Pa)iNsal osje aARY syue} oyl

:AWou029 sysawop 8y} 03
sasuenbasuos papusjujun jnoqe m:_._n Kew sylaey yodwy se yans wsiuonoejosd Buisoduwig

‘uopyisod 1 0g seaosdw) iy Jamoj pue X JoybiH

9SEaIOU} aNUaAaL-X € djeuojuodosd
uey3 2low S| X 2say) Jo} papuetusp A Ul 8su sy} ‘| < Xq3d Buluinsse & |je} spodxa asey) jo
ao1d € saopes pue spoob pauodxa ay) 105 uoionpoud §0 3S03 8y} 3INPaAI & SaIPISqns Hodx]

‘uononposd
,Spodxo ay) as|pisqns 0} 3sn 0) Sjjiie} WO} ANUBABL Xe) 8y} S1921102 Juswiusaaob ayL ' 108
5,A13unos e aaosdwi) Jayuny ues sajpisqns syodxe Yym pejdnod ‘syiiey yodwi Jo asn sy

‘Bujpuads-y ul [iej ay) yum peaocadw) 109 ‘snqued suee) “jie} jim Buipuads W € | 10}
pepuewap A1b ul |jej ajeuoiuodoud uey) aiow e o) pea| spodwl jo aoud Jaybiy ay) ‘) ueyy alow
s| spodwy 10} q3d ey} jey) Buiunsse ‘og tD-ZD 0) YD Wol) Jje) §lim suoduw JO swnjoA ay)
‘Jnsal B sy ‘7 0} P woay sesealdu) uojjonpoad ojjsewiop pue ‘saoys ||as o} ajqe pue Buipm
QJe swy d1)sewop oo ‘Ol SWES Jy} JY ‘TP 03 Y1) WO} Sjjej Sooys 10j pepuewap Apuenb
apsewop ‘soud Jauybly sy 1y ‘sHodwy Jo) 4%y Jo asud seybiy e Aed mou m siepodw
"Wy ) PHOM . WOY) BSBaIOU 910ja19y) [im saopd poob pepodun ey ‘pasodw s) yuey ay) seyy

More papers available at www.testpapersfree.com




BP-~42

Level | Descriptors Marks

L3 Both requirements are well analysed: 8-10
1. how protectionism can help with trade balance and

2. how protectionism may worsen trade balance and/or have
unintended economic consequences

(Other acceptable response include:

Req 1: how protectionism can reduce M spending

Req 2: how protectionism can increase X-revenue

Evaluation: how protectionism can worsen M-spending and/or X-
revenue for some)

Well-analysed includes:
- Correct start and end point {protectionism solving trade
imbalances)
- Correct use of AD-AS framework
- Diagram(s) is/are used in explanation
- No major conceptual errors

L2 Only one requirement is well-analysed 57
or
Both requirements are somewhat explained but not well-analysed

Explanation includes:
- Some gaps in explanations
- Inconsistent / inaccurate use of concepts
- Diagrams drawn but are not used in explanation

L1 Maijor conceptual inaccuracies 1-4
Irrelevant use of concepts
Evaluation
E3 Both requirements are considered and evaluated AND a summative 4-5

conclusion is provided, considering the context of different economies
and hence, the role protectionism plays.

E2 Both requirements are considered and evaluated (the degree / extent) 2-3
but no overall summative conclusion / recommendation provided (e.0.
on whether there is any room for the use of protectionism)
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E1 A brief attempt at considering the effectiveness of protectionism in 1
pursuing healthy BOT






